



Press Release 12th July 2012

Analysis of MPs and MLAs voting for Presidential Elections-2012

The following analysis shows that there is an urgent need for Electoral Reforms. NEW and ADR demands that the Political Parties take up the long pending Electoral immediately.

Executive Summary

- National Election Watch (NEW) has analyzed the affidavits submitted to the Election
 Commission of India of 772 out of 776 MPs and 4063 out of 4120 MLAs (a total of 4835 out
 of 4896) in all the states of India which forms the Electoral College and who will be voting on
 the Presidential Elections to elect the new President of India.
- As per the ECI, a total of 1098882 votes can be cast in the Presidential Elections. (For details see Annexure)
- Based on the number of votes these 4835 MPs/MLAs can cast, NEW & ADR has analysed 1089287 votes out the total 109882 votes.

Votes of MPs/MLAs who have declared criminal cases

- Out of the 4835 MPs/MLAs analyzed, 1448 members or 31 % have declared criminal cases against them in a self sworn affidavit filed with the ECI before their most recent elections.
- Out of these 1448 voters who have declared criminal cases, 641 MPs/MLAs have declared serious criminal cases like rape, murder, attempt to murder, kidnapping, robbery, extortion etc.
- There are 6 MPs/MLAs who have declared rape charges in their self sworn affidavits submitted to the ECI at the time of filing their nomination. There are 141 MPs/MLAs who have declared murder charges, 352 have declared attempt to murder charges, 145 have declared theft charges, 90 have declared kidnapping charges and 75 have declared dacoity charges.
- *Tainted Votes:* Based on the number of votes that these tainted MPs/MLAs are entitled to cast, a total of (31%) or 335089 votes out of 1089287 analyzed are of MPs/MLAs who have declared criminal cases against themselves on self sworn affidavits submitted to the ECI at the time of filing their nomination papers for elections.
- Among state assemblies, based on the number of tainted MLAs, the maximum number of tainted votes are from Uttar Pradesh which has 39312 out of 83824 votes analyzed (189 out of 403 MLAs) who have declared criminal cases at the time of submission of their self sworn affidavits to the ECI, followed by Maharashtra with 25550 out of 50225 votes analyzed (146





out of 287 MLAs) and Bihar with 24047 out of 41693 votes analyzed (139 out of 241 MLAs) who have declared criminal cases.

• In terms of percentage of tainted votes, among state assemblies, Jharkhand has the highest % of tainted votes with 74% or 10560 out of 14256 votes (60 out 81 MLAs analyzed) followed by Bihar with 58% or 24047 out of 41693 votes (139 out of 241 MLAs analyzed) and Maharashtra with 51% or 25550 out of 50225 votes (146 out of 287 analyzed).

Votes of MPs/MLAs based on financial details

- A total of 2322 out of 4835 MPs/MLAs analyzed i.e. 48% are crorepatis as per their self sworn affidavits submitted to the ECI at the time of nomination for contesting elections.
- *Crorepati Votes:* Based on the number of votes these crorepatis MPs/MLAs are entitled to cast, a total of 54% or 585918 out of 1089287 votes analyzed are of MPs/MLAs who are crorepatis.
- Amongst state assemblies, Uttar Pradesh has the maximum number of crorepati votes with 56368 out of 83824 votes analyzed followed by Maharashtra with 34650 out of 50225 votes analyzed and Andhra Pradesh with 25308 out of 42772 votes analyzed.
- In terms of Percentage, among state assemblies, Goa has the highest percentage of crorepatis voters with 92% or (37 out of 40 MLAs analyzed) followed by Punjab with 86% (101 out of 117 MLAs analyzed) and Haryana with 72% (65 out of 90 MLAs analyzed) crorepatis voters.

Women Representation

- As per the data from ECI, out of the total 4896 MPs/MLAs who are entitled to vote in the upcoming Presidential Elections, only 418 or 9% are women.
- Based on the number of votes the MPs/MLAs are entitled to vote, the total number of women votes is 10% or 113145 out of 1098882 votes.
- Among MPs, Lok Sabha has 11% or 41772 votes out of 384444 from 59 women MPs and Rajya Sabha has 10% or 16284 out of 164964 from 23 women MPs.
- Among State assemblies, West Bengal has the maximum amount of women votes with 12231 votes out of 44394 (34 out of 294 MLAs), followed by Uttar Pradesh with 6656 votes out of 83824(32 out of 403 MLAs) and Bihar with 5882 votes out of 42039 (34 out of 243 MLAs).
- In terms of percentage, among state assemblies, the highest percentage of Women votes is from Bihar with 14% (34 out of 243 MLAs) followed by Rajasthan with 14% (28 out of 200 MLAs) women votes and West Bengal with 12% (34 out of 294 MLAs).

CONTACTS

Mr. Anil Bairwal (National Coordinator, ADR)

Prof. Jagdeep Chhokar (Founder Member, ADR)

Prof. Trilochan Sastry(Founder Member, ADR)





E: trilochans@IIMB.ERNET.IN

E: <u>anil@adrindia.org</u>
M: +91 8010394248, +91
9999310100, T: 011 40817601

E: <u>jchhokar@gmail.com</u>
M: +919999620944

20944 M: +919448353285

Analysis of MPs and MLAs who have declared criminal cases

- Out of the 4835 members of the Electoral College analyzed, 1448 members or 31 % declared criminal cases against them at the time of submission of their nomination papers during their election in a self sworn affidavit to the ECI.
- Out of these 1448 members who have declared criminal cases, 641 have declared serious criminal cases like rape, murder, attempt to murder, kidnapping, robbery, extortion etc.
- There are 6 voters who have declared rape charges in their self sworn affidavits submitted to
 the ECI at the time of filing their nomination. They are Kandikunta Venkata Prasad of TDP
 from Kadiri constituency in Andhra Pradesh, Jethabhai G Ahir of BJP from Shehra
 constituency in Gujarat, Mohd. Aleem Khan of BSP from Bulandshahar constituency in Uttar
 Pradesh, Anoop Sanda of SP from Sultanpur constituency in Uttar Pradesh, Manoj Kumar
 Paras of SP from Nagina constituency in Uttar Pradesh and Shri Bhagwan Sharma of SP from
 Debai constituency in Uttar Pradesh
- There are 141 MPs/MLAs who have declared murder charges, 352 have declared attempt to murder charges, 145 have declared theft charges, 90 have declared kidnapping charges and 75 have declared dacoity charges.
- Kameshwar Baitha, Lok Sabha MP from Palamau of JMM has declared the highest number of criminal cases, (35) followed by Pradeep Maharathy, BJD MLA from Odisha from Pipili constituency with 26 cases and Pradip Kumar of JD (U), MLA from Bihar from Warsaliganj constituency with 18 cases. The charges are related to murder, attempt to murder, dacoity, theft, kidnapping etc.
- Tainted Votes: Based on the number of votes that these tainted MPs/MLAs are entitled to cast, a total of (31%) or 335089 votes out of 1089287 analyzed are of MPs/MLAs who have declared criminal cases against themselves on self sworn affidavits submitted to the ECI at the time of filing their nomination papers for elections.
- For Lok Sabha, 30% or 162 out of 540 analyzed have declared criminal cases at the time of submission of their self sworn affidavits to the ECI. In Rajya Sabha, 16% or 38 out of 232 analyzed have declared criminal cases against themselves.
- For Lok Sabha 114696 out of 382320 votes are of members who have declared criminal charges against themselves. In Rajya Sabha, 26904 out of 164256 votes are of members who have declared criminal cases against themselves.
- Among the state assemblies, Uttar Pradesh has the maximum number of MLAs with declared criminal cases, 189 out of 403 MLAs have declared criminal cases. It is followed by

Data in this Kit is presented in good faith, with an intention to inform voters. MPs and MLAs' affidavit with nomination papers is the source of this analysis. www.myneta.info
Page **3** of **16**





Maharashtra with 146 out of 287 analyzed who have declared criminal cases and Bihar with 139 out of 241 analyzed who have declared criminal cases.

- Among state assemblies, based on the number of tainted MLAs, the maximum number of tainted votes are from Uttar Pradesh which has 39312 out of 83824 votes analyzed (189 out of 403 MLAs) who have declared criminal cases at the time of submission of their self sworn affidavits to the ECI, followed by Maharashtra with 25550 out of 50225 votes analyzed (146 out of 287 MLAs) and Bihar with 24047 out of 41693 votes analyzed (139 out of 241 MLAs) who have declared criminal cases.
- In terms of percentage of tainted votes, among state assemblies, Jharkhand has the highest % of tainted votes with 74% or 10560 out of 14256 votes (60 out 81 MLAs analyzed) followed by Bihar with 58% or 24047 out of 41693 votes (139 out of 241 MLAs analyzed) and Maharashtra with 51% or 25550 out of 50225 votes (146 out of 287 analyzed).

Calculation of votes of MPs/MLAs based on votes they are entitled to cast, who have declared criminal cases

Given below is the state-wise calculation of votes of MPs/MLAs who have declared criminal cases:

S.No.	Elected from House/Assembly	Total voters in the House/Assembly (A)	Total MPs/MLAs Analyzed (B)	No. of votes which each elected member is entitled to cast (C)	Total no. of votes (D = A*C)	Total votes of analyzed members (E = B*C)	No. of MPs/MLAs with declared criminal cases (F)	Total votes of MPs/MLAs with declared criminal cases (G = F*C)	% of votes of MPs/MLAs with declared criminal cases (H = G/E*100)
1	Lok Sabha	543	540	708	384444	382320	162	114696	30%
2	Rajya Sabha	233	232	708	164964	164256	38	26904	16%
3	Uttar Pradesh	403	403	208	83824	83824	189	39312	47%
4	Maharashtra	288	287	175	50400	50225	146	25550	51%
5	West Bengal	294	294	151	44394	44394	102	15402	35%
6	Andhra Pradesh	294	289	148	43512	42772	77	11396	27%
7	Bihar	243	241	173	42039	41693	139	24047	58%
8	Tamil Nadu	234	234	176	41184	41184	70	12320	30%
9	Madhya Pradesh	230	227	131	30130	29737	58	7598	26%
10	Gujarat	182	181	147	26754	26607	43	6321	24%
11	Karnataka	224	196	131	29344	25676	40	5240	20%
12	Rajasthan	200	198	129	25800	25542	30	3870	15%
13	Odisha	147	147	149	21903	21903	48	7152	33%
14	Kerala	140	140	152	21280	21280	67	10184	48%
15	Assam	126	126	116	14616	14616	13	1508	10%
16	Jharkhand	81	81	176	14256	14256	60	10560	74%
17	Punjab	117	117	116	13572	13572	22	2552	19%
18	Chhattisgarh	90	86	129	11610	11094	9	1161	10%
19	Haryana	90	90	112	10080	10080	16	1792	18%
20	Jammu & Kashmir	87	85	72	6264	6120	7	504	8%
21	Uttarakhand	70	70	64	4480	4480	20	1280	29%
22	NCT of Delhi	70	66	58	4060	3828	30	1740	45%
23	Himachal Pradesh	68	66	51	3468	3366	26	1326	39%
24	Tripura	60	60	26	1560	1560	3	78	5%
25	Manipur	60	60	18	1080	1080	0	0	0%
26	Meghalaya	60	58	17	1020	986	1	17	2%





S.No.	Elected from House/Assembly	Total voters in the House/Assembly (A)	Total MPs/MLAs Analyzed (B)	No. of votes which each elected member is entitled to cast (C)	Total no. of votes (D = A*C)	Total votes of analyzed members (E = B*C)	No. of MPs/MLAs with declared criminal cases (F)	Total votes of MPs/MLAs with declared criminal cases (G = F*C)	% of votes of MPs/MLAs with declared criminal cases (H = G/E*100)
27	Goa	40	40	20	800	800	12	240	30%
28	Nagaland	60	60	9	540	540	0	0	0%
29	Puducherry	30	30	16	480	480	10	160	33%
30	Arunachal Pradesh	60	60	8	480	480	3	24	5%
31	Mizoram	40	39	8	320	312	3	24	8%
32	Sikkim	32	32	7	224	224	1	7	3%
	Total	4896	4835	-	1098882	1089287	1448	335089	31%

Table: calculation of votes of MPs/MLAs who have declared Criminal Cases State-Wise

Declared criminal cases: Party- wise

Given below is the party-wise list of MPs/MLAs who have declared criminal cases:

	Total number of	Members with	% of Members	Members with	% of Members with
Party	Members	declared criminal	with declared	serious declared	serious declared
	analyzed	cases	criminal cases	criminal cases	criminal cases
INC	1433	305	21 %	107	8 %
ВЈР	1017	313	31 %	118	12 %
SP	262	125	48 %	68	26 %
AITC	225	74	33 %	55	24 %
AIADMK	160	52	33 %	30	19 %
JD(U)	145	68	47 %	44	30 %
BSP	138	47	34 %	25	18 %
IND	132	56	42 %	24	18 %
BJD	125	31	25 %	19	15 %
NCP	109	32	29 %	11	10 %
TDP	94	37	39 %	15	16 %
СРМ	66	4	6 %	1	2 %
SAD	64	11	17 %	3	5 %
CPI(M)	107	31	29 %	12	11 %
DMK	50	13	26 %	3	6 %
SS	48	37	77 %	13	27 %
СРІ	37	8	22 %	2	5 %
SDF	34	1	3 %	1	3 %
RJD	33	21	64 %	11	33 %
INLD	31	6	19 %	1	3 %
DMDK	29	6	21 %	1	3 %
JD(S)	27	9	33 %	5	19 %
JMM	22	18	82 %	10	46 %
JKNC	21	1	5 %	0	0 %
JKPDP	21	1	5 %	0	0 %
ML	20	8	40 %	0	0 %
TRS	18	12	67 %	5	28 %
AIUDF	18	6	33 %	4	22 %
YUVAJANA SRAMIKA RYTHU CONGRESS PARTY	17	3	18 %	0	0 %
PRAP	16	8	50 %	3	19 %
AIFB	15	5	33 %	5	33 %





	Total number of		% of Members	Members with	% of Members with
Party		declared criminal	with declared	serious declared	serious declared
ALL INDIA N.D. CONCRECC	analyzed	cases	criminal cases	criminal cases	criminal cases
ALL INDIA N.R. CONGRESS	15	5	33 %	1	7 %
RSP	14	1	7 %	1	7 %
RLD	13	4	31 %	2	15 %
MNS	13	10	77 %	6	46 %
AGP	13	1	8 %	0	0 %
JVM(P)	11	8	73 %	5	46 %
SHS	10	8	80 %	2	20 %
KC[M]	9	5	56 %	0	0 %
ADMK	9	4	44 %	3	33 %
AIMIM	8	5	63 %	5	63 %
HJC(BL)	7	1	14 %	1	14 %
LJP	6	4	67 %	2	33 %
AJSU	5	4	80 %	1	20 %
BJSH	5	3	60 %	1	20 %
JD[S]	4	1	25 %	0	0 %
GJM	4	3	75 %	3	75 %
PECP	4	2	50 %	1	25 %
PWPI	4	1	25 %	0	0 %
BVA	3	1	33 %	0	0 %
PMK	3	2	67 %	1	33 %
JKNPP	3	1	33 %	0	0 %
QED	2	1	50 %	1	50 %
SJD	2	1	50 %	0	0 %
MANITHANEYA MAKKAL KATCHI	2	1	50 %	0	0 %
GVP	2	1	50 %	1	50 %
YSRCP	2	1	50 %	0	0 %
JSS	2	2	100 %	0	0 %
PUTHIYA THAMILAGAM	2	1	50 %	1	50 %
LSP	2	1	50 %	1	50 %
VCK	1	1	100 %	1	100 %
LSWP	1	1	100 %		0 %
JHARKHAND JANADHIKAR MANCH	1	1	100 %	1	100 %
MARXIST CO-ORDINATION	1	1	100 %	0	0 %
INC(I)	1	1	100 %	0	0 %
RASHTRIYA KALYAN PAKSHA	1	1	100 %	1	100 %
SWABHIMANIP	1	1	100 %	0	0 %
AJSU PARTY	1	1	100 %	0	0 %
JVM	1	1	100 %	0	0 %
KC(J)	1	1	100 %	0	0 %
JHARKHAND PARTY	1	1	100 %	1	100 %
RSPB	1	1	100 %	1	100 %
IEMC	1	1	100 %	0	0 %
MDMK	1	1	100 %	0	0 %
	1	1	100 %	1	1000 %
JKDPN					
KCB Total	1	1	100 %	0	0 %
Total	4835	1448	31%	641	13%

Table: declared Criminal Cases Party-Wise





Top 5 members (MPs/ MLAs) of Electoral College who have declared serious criminal cases

Given below are the top 5 members who have declared serious criminal cases:

Serial		Voter Information	Brief Details of IPCs
1	Name:K/	AMESHWAR BAITHA	17 charges related to Attempt to
	State/Dis	st:Lok Sabha 2009	murder (IPC Section-307)
	Constitu	ency:Lok Sabha 2009:Palamau	11 charges related to Murder (IPC
	Party:JM	M	Section-302)
	Total Cas	ses:35	4 charges related to Voluntarily
	Serious I	PC :49	causing hurt by dangerous weapons
	Other IP	C:121	or means (IPC Section-324)
	Cases (A	ccused)	3 charges related to theft (IPC
			Section-379)
	1.	IPC Sections - 307, 326, , Other Details - 27 ARMS ACT (CHARGED)	3 charges related to Voluntarily
	2.	IPC Sections - 323, 324, 325, 326, 333, 328, 427, 389, , Other Details -	causing grievous hurt by dangerous
		27 ARMS ACT, 3/4 EXP ARMS ACT, 17 CLA ACT (CHARGED)	weapons or means (IPC Section-
	3.	IPC Sections - 307, 323, 325, 341, , Other Details - 17 CLA ACT	326)
	J.	(CHARGED)	3 charges related to voluntarily
	4.	IPC Sections - 307, Other Details - 27 ARMS ACT, 17 CLA ACT	causing grievous hurt (IPC Section-
	7.	(CHARGED)	325)
	5.	IPC Sections - 307, , Other Details - 27 ARMS ACT, 17 CLA ACT	2 charges related to extortion (IPC
	J.	(CHARGED)	Section-384)
	6.	IPC Sections - 307, 399, 402, 353, 411, Other Details - 25, 26 ARMS	2 charges related to Theft in
	0.	ACT, 17 CLA ACT (CHARGED)	dwelling house, etc. (IPC Section-
	7.	IPC Sections - 384, 385, Other Details - 17 CLA ACT (CHARGED)	380)
	8.	IPC Sections - 436, 307, 389, 504, 435, 323, 427, 341, Other Details -	1 charges related to dacoity (IPC
	0.	27 ARMS ACT, 17 CLA ACT (CHARGED)	Section-395)
	9.	IPC Sections - 302, 107, 388, 389, 324, 326, 341, 353, 427, Other	1 charges related to culpable
	J.	Details - 27 ARMS ACT, 17 CLA ACT (CHARGED)	homicide not amounting to murder
	10	IPC Sections - 302, 353, 323, 341, 307, 427, 216, , Other Details - 3/4	(IPC Section-304)
	10.	EXP ARMS ACT, 17 CLA ACT (CHARGED)	1 charges related to Kidnapping or
	11	IPC Sections - 307, 302, 323, 342, 120B, , Other Details - 17 CLA ACT	abducting in order to murder (IPC
	11.	(CHARGED)	Section-364)
	12	IPC Sections - 307, 504, 120B, Other Details - 27 ARMS ACT 3/4 EXP	1 charges related to Assaulting
	12.	ARMS ACT, 17 CLA ACT (CHARGED)	President, Governor, etc., with
	13	IPC Sections - 302, 201, 304, , Other Details - 27 ARMS ACT, 17 CLA	intent to compel or restrain the
	15.	ACT (CHARGED)	exercise of any lawful power (IPC
	14	IPC Sections - 506, 307, Other Details - 27 ARMS ACT	Section-124)
	14.	il e Sections 300, 307, Other Betans 27 Annis Act	·
		Cases (Convicted)No Cases	
		For detailed information please visit:	
		http://myneta.info/ls2009/candidate.php?candidate_id=1279	
2	Name:Pr	adeep Maharathy	9 charges related to dacoity (IPC
		st:Orissa 2009	Section-395)
	Constitu	ency:Orissa 2009 :PIPILI	7 charges related to Obscene acts
	Party:BJI		and songs (IPC Section-294)
	Total Cas	ses:26	5 charges related to theft (IPC
	Serious I	PC :29	Section-379)
	Other IP	C:139	3 charges related to Attempt to
	Cases (A	ccused)	murder (IPC Section-307)
	'		2 charges related to Voluntarily
	1.	IPC Sections - 148,332,294,149,147 , Other Details - 7	causing hurt by dangerous weapons
	1.	Crl.L.A.Act,C.No.183/84	or means (IPC Section-324)
	2.	IPC Sections - 452,294,353,379,506,34 , Other Details - C.No.19/88	1 charges related to voluntarily
	3.	IPC Sections - 452,294,353,379,506,34 , Other Details - C.No.19/88	causing grievous hurt (IPC Section-
	<u> </u>	11 C Sections - 471,120(0),420,400 , Other Details - C.NO.54/82	1 33 33 4 4 5 5 5 5 6 5 6





Serial		Voter Information	Brief Details of IPCs
	4.	IPC Sections - 294,506 , Other Details - C.No.42/95	325)
	5.	IPC Sections - 147,148,149,435,336,427,452,506 , Other Details -	1 charges related to Furnishing fals
] 3.	C.no.346/84	information (IPC Section-177)
	6	IPC Sections - 147,148,151,152,332,333,337,427,506,149,426,379	1
	6.		1 charges related to False
		Other Details - C.No.146/84	statement on oath or affirmation to
	7.	IPC Sections - 341,323,34 , Other Details - G.R.No.1085/84	public servant or person authorized
	8.	IPC Sections - 294,506,34 , Other Details - G.R.No.1345/94	to administer an oath or affirmatio
	9.	IPC Sections - 147,149,336,337,353,341,342,379, Other Details - 7	(IPC Section-181)
		Crl.Law Amd.Act,G.R,No.812/96	
	Cases (Co	onvicted)No Cases	
	For detai	led information please visit:	
	http://m	yneta.info/orissa2009/candidate.php?candidate_id=664	
3	Name:Pr	adip Kumar	10 charges related to Murder (IPC
	1	st:Bihar 2010	Section-302)
		ency:Bihar 2010:Warsaliganj	8 charges related to Attempt to
	1		
	Party:JD(·	murder (IPC Section-307)
	Total Cas		2 charges related to dacoity (IPC
	Serious II		Section-395)
	Other IP	2:70	2 charges related to theft (IPC
	Cases (Ad	ccused)	Section-379)
			1 charges related to Theft in
	4	IDC Continue 205 207 440 427 444 447 440 452 420 270 200	dwelling house, etc. (IPC Section-
	1.	IPC Sections - 395, 307, 149, 427, 411, 147, 148, 452, 429, 379, 380,	380)
		Other Details - 27 ARMS ACT AND 1(X) HARIJAN ATROCITY ACT (CASE	
		NO- 102/1997)	1 charges related to robbery (IPC
	2.	IPC Sections - 392, 395, 397, Other Details - (CASE NO- 26/1999)	Section-392)
	3.	IPC Sections - 25(1B), Other Details - 26 ARMS ACT (CASE NO-	1 charges related to Voluntarily
		35/99)	causing hurt by dangerous weapor
	4.	IPC Sections - 302, 34, 120(B) , Other Details - 27 ARMS ACT (CASE	or means (IPC Section-324)
	"	NO- 13/05)	1 charges related to Voluntarily
	-	· ·	
	5.	IPC Sections - 302, 149, 307, 149, 120(B),34 , Other Details - 27 ARMS	weapons or means (IPC Section-
		ACT (CASE NO,(22/03)	326)
	6.	IPC Sections - 302, 34, 307, 34, 324, 120(B) , Other Details - 3/4	1 charges related to Kidnapping or
		EXPLOSIVE ACT (CASE NO- 174/04)	
	7.	IPC Sections - 148, 302, 149, 307, 149, 224, 225, 379, 149, 147, 120(B) , Other Details - 27 ARMS ACT (CASE NO- 298/01)	abducting in order to murder (IPC Section-364)
	Cases (Co	onvicted)No Cases	
	For detai	led information please visit:	
	http://m	yneta.info/bih2010/candidate.php?candidate_id=1931	
ļ	Name:M	TRASEN	11 charges related to Attempt to
-	1 -	st:Uttar Pradesh 2012	murder (IPC Section-307)
			, ,
	1	ency:Uttar Pradesh 2012:Bikapur	5 charges related to Voluntarily
	Party:SP		causing hurt by dangerous weapor
	Total Cas	es: 36	or means (IPC Section-324)
	Serious II	PC:26	5 charges related to dacoity (IPC
	Other IP	C:126	Section-395)
	Cases (Ad	ccused)	3 charges related to Murder (IPC
			Section-302)
	1.	IPC Sections - 147,148,149,302,307, 324,325, , Other Details - case	1 charges related to voluntarily
		no.42/66 ST NO. 141/66, Convicted for life imprisonment but the	causing grievous hurt (IPC Section
		punishment has been reduced by the Hon'ble Governer on	325)
		09.10.1972	1 charges related to Dacoity with
	2.	IPC Sections - 147,148,149,353,323,436,211,504,109 , Other Details -	murder (IPC Section-396)
		Case NO.134/77	
	1	•	
	2		
	3.	IPC Sections - 147,148,149,307,435,336,337,323 , Other Details -	
		CaseNO 118/84	
	3. 4.		

Data in this Kit is presented in good faith, with an intention to inform voters. MPs and MLAs' affidavit with nomination papers is the source of this analysis. www.myneta.info
Page 8 of 16





ial	Voter Information	Brief Details of IPCs
5.	IPC Sections - 147,148,149,307,435,336,337,323 , Other Details - CaseNO 119/84	
Cases (C	Convicted)	
1.	IPC Sections - 420 , Other Details - Case NO 257/01	
For deta	ailed information please visit:	
http://n	nyneta.info/up2012/candidate.php?candidate_id=118	
State/D Constitu Party:Al Total Ca Serious Other IF	IPC:24	5 charges related to Voluntarily causing grievous hurt by dangerd weapons or means (IPC Section-326) 5 charges related to Theft in dwelling house, etc. (IPC Section-380) 4 charges related to theft (IPC Section-379)
1. 2. 3. 4. 5. 6.	IPC Sections - 147, 323 , Other Details - IPC Sections - 147, 148, 149, 448, 326, 307 , Other Details - 25/27ARMS ACT AND 9(B)II I.E. ACT, 6 OF I.E. ACT IPC Sections - 143, 341, 323, 506 , Other Details - IPC Sections - 147, 149, 448, 504, 506, 353, 332 , Other Details - IPC Sections - 147, 148, 149, 448, 380, 436, 506 , Other Details - IPC Sections - 147, 148, 149, 448, 379, 506, 427, 436 , Other Details - 25, 27 ARMS ACT IPC Sections - 147, 148, 323, 504, 506, 380, 382 , Other Details - IPC Sections - 147, 148, 149, 323, 307, 379, 427, 506 , Other Details - 9(B)(2)I.E. ACT	1 charges related to Theft after preparation made for causing death, hurt or restraint in order the committing of the theft (IPC
9.	IPC Sections - 147, 148, 149, 337, 338, 427, 506 , Other Details - 25/27 ARMS ACT & 9(B)II ACT IPC Sections - 147, 323, 325, 349,149 , Other Details -	Section-382) 1 charges related to Kidnapping abducting in order to murder (IPC Section-364)
Cases (C	Convicted)No Cases	500011-304)
	niled information please visit: nyneta.info/westbengal2011/candidate.php?candidate_id=1015	

Table: Top 5 MPs/MLAs who have declared serious criminal cases (State Wise)

Analysis Based on Assets

- A total of 2322 out of 4835 MPs/MLAs analyzed i.e. 48% were crorepatis as per their self sworn affidavits submitted to the ECI at the time of nomination for contesting elections.
- *Crorepati Votes:* Based on the number of votes they are entitled to cast, a total of 54% or 585918 out of 1089287 votes analyzed are of MPs/MLAs who are crorepatis.
- Among MPs, Lok Sabha has 59% or 319 crorepatis out of the 540 analyzed as per their self sworn affidavit submitted to the ECI by them at the time of filing their nomination papers.
 Rajya Sabha has 65% or 150 corepatis out of the 232 analyzed.
- For Lok Sabha, 225852 out of 384444 votes are of Crorepatis analyzed and for Rajya Sabha, 106200 out of 164964 votes of are of crorepatis analyzed.

Data in this Kit is presented in good faith, with an intention to inform voters. MPs and MLAs' affidavit with nomination papers is the source of this analysis. www.myneta.info
Page **9** of **16**





- Amongst state assemblies, Uttar Pradesh has the maximum number of crorepatis with 271 out of 403 analyzed, followed by Maharashtra with 198 out of 287 and Andhra Pradesh with 171 out of 289 analyzed are crorepatis.
- Amongst state assemblies, Uttar Pradesh has the maximum number of crorepati votes with 56368 out of 83824 votes analyzed followed by Maharashtra with 34650 out of 50225 votes analyzed and Andhra Pradesh with 25308 out of 42772 votes analyzed.
- In terms of Percentage, among state assemblies, Goa has the highest percentage of crorepatis voters with 92% (37 out of 40 MLAs analyzed) followed by Punjab with 86% (101 out of 117 MLAs analyzed) and Haryana with 72% (65 out of 90 MLAs analyzed) crorepatis voters.
- Mahendra Prasad of JD (U), Rajya Sabha MP from Bihar, has declared the highest asset with Rs. 692.41 crores followed by Dr. Vijaya Mallya, an IND Rajya Sabha MP with Rs. 615.42 crores and Jaya Amitabh Bachchan of SP, Rajya Sabha MP from Uttar Pradesh with Rs. 483.86 crores.

Calculation of votes of Crorepati MPs/MLAs based on the votes they are entitled to cast State-Wise

Given below is the state-wise list of MPs/MLAs who are crorepatis and the calculation of their votes:

S.No.	Elected from House/Assembly	Total voters in the House/Assembly (A)	Total MPs/MLAs Analyzed (B)	No. of votes which each elected member is entitled to cast (C)	Total no. of votes (D=A*C)	Total votes of analyzed members (E = B*C)	No. of crorepati MPs/MLAs (F)	Total votes of crorepati MPs/MLAs (G = F*C)	% of votes of crorepati MPs/MLAs (H=G/E*100)
1	Lok Sabha	543	540	708	384444	382320	319	225852	59%
2	Rajya Sabha	233	232	708	164964	164256	150	106200	65%
3	Uttar Pradesh	403	403	208	83824	83824	271	56368	67%
4	Maharashtra	288	287	175	50400	50225	198	34650	69%
5	West Bengal	294	294	151	44394	44394	47	7097	16%
6	Andhra Pradesh	294	289	148	43512	42772	171	25308	59%
7	Bihar	243	241	173	42039	41693	52	8996	22%
8	Tamil Nadu	234	234	176	41184	41184	120	21120	51%
9	Madhya Pradesh	230	227	131	30130	29737	88	11528	39%
10	Gujarat	182	181	147	26754	26607	56	8232	31%
11	Karnataka	224	196	131	29344	25676	124	16244	63%
12	Rajasthan	200	198	129	25800	25542	87	11223	44%
13	Odisha	147	147	149	21903	21903	35	5215	24%
14	Kerala	140	140	152	21280	21280	35	5320	25%
15	Assam	126	126	116	14616	14616	47	5452	37%
16	Jharkhand	81	81	176	14256	14256	24	4224	30%
17	Punjab	117	117	116	13572	13572	101	11716	86%
18	Chhattisgarh	90	86	129	11610	11094	31	3999	36%
19	Haryana	90	90	112	10080	10080	65	7280	72%
20	Jammu & Kashmir	87	85	72	6264	6120	27	1944	32%
21	Uttarakhand	70	70	64	4480	4480	32	2048	46%





S.No.	Flected from	Total voters in the House/Assembly (A)	Total		Total no. of votes (D=A*C)	Total votes of analyzed members (E = B*C)	No. of crorepati MPs/MLAs (F)	Total votes of crorepati MPs/MLAs (G = F*C)	% of votes of crorepati MPs/MLAs (H=G/E*100)
22	NCT of Delhi	70	66	58	4060	3828	44	2552	67%
23	Himachal Pradesh	68	66	51	3468	3366	19	969	29%
24	Tripura	60	60	26	1560	1560	3	78	5%
25	Manipur	60	60	18	1080	1080	16	288	27%
26	Meghalaya	60	58	17	1020	986	15	255	26%
27	Goa	40	40	20	800	800	37	740	92%
28	Nagaland	60	60	9	540	540	23	207	38%
29	Puducherry	30	30	16	480	480	19	304	63%
30	Arunachal Pradesh	60	60	8	480	480	35	280	58%
31	Mizoram	40	39	8	320	312	12	96	31%
32	Sikkim	32	32	7	224	224	19	133	59%
	Total	4896	4835	-	1098882	1089287	2322	585918	54%

Table: calculation of votes of MPs/MLAs who are corepatis State-Wise

Party wise Crorepati MPs/MLAs

Given below is the party-wise list of MPs/MLAs who are crorepatis:

Party	Total Members Analysed	Crorepatis	Percent
INC	1433	760	53%
ВЈР	1017	458	45%
SP	262	163	63%
BSP	138	95	69%
AIADMK	160	86	54%
NCP	109	74	68%
IND	132	69	52%
TDP	94	56	60%
SAD	64	54	84%
AITC	225	52	23%
JD(U)	145	44	30%
DMK	50	38	76%
BJD	125	36	29%
SS	48	28	58%
INLD	31	20	65%
SDF	34	20	59%
JD(S)	27	18	67%
PRAP	16	14	88%
YUVAJANA SRAMIKA RYTHU CONGRESS PARTY	17	14	82%
NPF	32	14	44%
ML	20	12	60%
JKNC	21	10	48%
TRS	18	10	56%
JKPDP	21	10	48%
DMDK	29	10	35%
RLD	13	10	77%
RJD	33	10	30%





Party	Total Members Analysed	Crorepatis	Percent
MNS	13	9	69%
SHS	10	8	80%
ALL INDIA N.R. CONGRESS	15	7	47%
JMM	22	7	32%
	8		
AIMIM		6	75%
AGP	13	6	46%
KC[M]	9	5	56%
ADMK	9	5	56%
HJC(BL)	7	5	71%
CPI[M]	44	4	9%
JKN	9	4	44%
UDP	11	4	36%
BPF	14	4	29%
MNF	4	3	75%
MGP	3	3	100%
РМК	3	3	100%
JVM(P)	11	3	27%
PPA	3	3	100%
AIUDF	18	3	17%
PECP	4	3	75%
RSP	14	2	14%
LSP	2	2	100%
YSRCP	2	2	100%
GVP	2	2	100%
CPI	37	2	5%
MSCP	5	2	40%
QED	2	2	100%
ZNP	2	1	50%
J&K NC		1	100%
	6		
ШР		1	17%
SJD	2	1	50%
AJSU	5	1	20%
LSWP	1	1	100%
PUTHIYA THAMILAGAM	2	1	50%
AJSU PARTY	1	1	100%
AUDF	1	1	100%
JAI BHARAT SAMANTA PARTY	1	1	100%
KC(J)	1	1	100%
CPI(M)	63	1	2%
AIFB	15	1	7%
BBM	1	1	100%
MDMK	1	1	100%
RSPB	1	1	100%
СРМ	66	1	2%
UKD (P)	1	1	100%
BVA	3	1	33%
MANITHANEYA MAKKAL KATCHI	2	1	50%
BJSH	5	1	20%
KCB	1	1	100%
IEMC	1	1	100%
MPC	2	1	50%
PWPI	4	1	25%
PWPI	4	1	2570





Party	Total Members Analysed	Crorepatis	Percent
JHARKHAND PARTY	1	1	100%
DSP(PC)	1	1	100%
KC(M)	2	1	50%
OTHER	34	0	0%
Total	4835	2322	48%

Table: Crorepati MPs/MLAs Party-Wise

Top 10 MPs/MLAs with maximum assets

The following are the top 10 MPs/MLAs with maxium assets:

S.No.	Name	Assembly/House	Constituency	Party	Movable Assets (Rs)	Immovable Assets (Rs)	Total Assets (Rs)
1	Mahendra Prasad	Rajya Sabha 2012	Rajya Sabha Bihar	JD(U)	6,64,86,77,319*	27,54,48,000 [*]	6,92,41,25,319 692 Crore+
2	Dr.Vijaya Mallya	Rajya Sabha 2010	Rajya Sabha Karnataka	IND	6,15,42,41,322*	0	6,15,42,41,322 615 Crore+
3	Bachchan Jaya Amitabh	Rajya Sabha 2012	Rajya Sabha Uttar Pradesh	SP	3,43,70,37,334*	1,40,16,00,000	4,83,86,37,334 483 Crore+
4	Y.S. Jagan Mohan Reddy	Loksabha 2011 (bye-election)	Loksabha Kadapa	YSRCP	4,07,02,02,033	38,68,45,231	4,45,70,47,264 445 Crore+
5	Reddy Dr. T. Subbarami	Rajya Sabha 2008	Rajya Sabha Andhra Pradesh	INC	2,07,37,14,507*	50,87,87,664*	2,58,25,02,171 258 Crore+
6	Abhishek Manu	Rajya Sabha 2012	Rajya Sabha Rajasthan	INC	1,74,74,37,298*	51,24,00,000*	2,25,98,37,298 225 Crore+
7	Takam Tagar	Arunachal Pradesh 2009	Arunachal Pradesh Palin	PPA	1,74,49,92,494*	35,13,96,000 [*]	2,09,63,88,494 209 Crore+
8	Yalamanchili Satyanarayana Chowdary	Rajya Sabha 2010	Rajya Sabha Andhra Pradesh	TDP	1,77,73,53,123*	11,95,98,558*	1,89,69,51,681 189 Crore+
9	Lad Shri Anil H.	Rajya Sabha 2008	Rajya Sabha Karnataka	INC	1,12,77,63,434*	66,70,48,816 [*]	1,79,48,12,250 179 Crore+
10	Nama Nageswara Rao	Lok Sabha 2009	Lok Sabha Khammam	TDP	1,41,73,66,278*	32,46,41,855 [*]	1,74,20,08,133 174 Crore+

Table: Top 10 MPs/MLAs of each state with maximum assets

Top 10 MPs/MLAs with lowest assets

The following table gives the list of MPs/MLAs with the lowest assets in their respective states:

S.No.	Name	Assembly/House	Constituency	Party	Movable Assets (Rs)	Immovable Assets (Rs)	Total Assets (Rs)
1	Hrushikesh Naik	Orissa 2009	Orissa: PATNA (ST)	BJD	0	0	0
2	DUJRAM BOUDDH	Chattisgarh 2008	Chattisgarh :Pamgarh	BSP	0	0	0
3	MOHMAD SARTAJ MADNI	Jammu & Kashmir 2008	Jammu & Kashmir :Devsar	JKPDP	0	0	0
4	FEROZ NURUDDIN SAIT	Karnataka 2008	Karnataka :Belgaum Uttar	INC	0	0	0
5	Ahmed Bin Abdullah Balala	Andhra Pradesh	Andhra Pradesh	AIMIM	0	0	0

Data in this Kit is presented in good faith, with an intention to inform voters. MPs and MLAs' affidavit with nomination papers is the source of this analysis. www.myneta.info
Page 13 of 16

^{*} Note: Total assets given above is the total provided by the candidates in the affidavits. Where they have failed to provide the total we have calculated it from the details provided in the affidavit.





S.No.	Name	Assembly/House	Constituency	Party	Movable Assets (Rs)	Immovable Assets (Rs)	Total Assets (Rs)
		2009	:MALAKPET				
6	SUBODH DAS	Tripura 2008	Tripura :Panisagar	СРМ	3,457*	0	3,457 3 Thou+
7	M.NARAYANASWAMY	Karnataka 2008	Karnataka :Bangarapet	INC	5,000*	0	5,000 5 Thou+
8	SRI NIRAJOY TRIPURA	Tripura 2008	Tripura :Chhawmanu	СРМ	5,000*	0	5,000 5 Thou+
9	PAWAN KUMAR DUGGAL	Rajasthan 2008	Rajasthan :Anupgarh	СРМ	6,099*	0	6,099 6 Thou+
10	RAMNIWAS RAWAT	Madhya Pradesh 2008	Madhya Pradesh :Vijaypur	INC	16,000*	0	16,000 16 Thou+

Table: Top 10 MPs/MLAs with lowest assets

Top 10 MPs/MLAs with highest liabilities

The following are the top 10 MPs/MLAs with highest liabilities assets:

S.No.	Name	House/assembly	Constituency	Party			Total Assets(Rs)	Liabilities (Rs)
1	•	Rajya Sabha 2012	Rajya Sabha Uttar Pradesh	SP	3,43,70,37,334 343 Crore+	1,40,16,00,000 140 Crore+	4,83,86,37,334 483 Crore+	1,52,71,72,120* 152 Crore+
		Karnataka 2008	Karnataka 2008:Vijay Nagar	INC		54,40,78,464 54 Crore+	1,30,16,63,777 130 Crore+	
3	N.A HARIS	Karnataka 2008	Karnataka 2008:Shanti Nagar	INC	67,29,98,147 67 Crore+	18,04,85,000 18 Crore+	85,34,83,147 85 Crore+	68,54,88,742* 68 Crore+
4	D.K.SHIVAKUMAR	Karnataka 2008	Karnataka 2008:Kanakapura	INC	23,29,90,202 23 Crore+	53,06,86,027 53 Crore+	76,36,76,229 76 Crore+	64,37,04,956* 64 Crore+
5	PARESH AGRAWAL	Chattisgarh 2008	Chattisgarh 2008:Khallari	INC	95,99,433 95 Lacs+	2,01,57,000 2 Crore+	2,97,56,433 2 Crore+	59,51,95,962* 59 Crore+
6	Shinde Babanrao Vitthalrao	Maharashtra 2009	Maharashtra 2009 :Madha	NCP	79,26,516 79 Lacs+	1,64,31,100 1 Crore+	2,43,57,616 2 Crore+	50,61,09,909* 50 Crore+
7	Annishek ivianii	Rajya Sabha 2012	Rajya Sabha Rajasthan	INC	1,74,74,37,298 174 Crore+	51,24,00,000 51 Crore+	2,25,98,37,298 225 Crore+	37,24,54,702* 37 Crore+
8	l ad Shri Anil H	Rajya Sabha 2008	Rajya Sabha:Karnataka	INC	1,12,77,63,434 112 Crore+	66,70,48,816 66 Crore+	1,79,48,12,250 179 Crore+	35,75,11,856* 35 Crore+
19	Sukhbir Singh Badal	Punjab 2012	Punjab 2012:Jalalabad	SAD	41,97,67,995 41 Crore+	48,88,33,696 48 Crore+	90,86,01,691 90 Crore+	31,77,83,438 31 Crore+
10	E SUBAYA	Tamil Nadu 2011	Tamil Nadu 2011:Ambasamudram	AIADMK	2,38,19,052 2 Crore+	57,88,37,228 57 Crore+	60,26,56,280 60 Crore+	31,28,93,000 31 Crore+

Table: Top 10 MPs/MLAs with highest liabilities

^{*} Note: Total assets given above is the total provided by the candidates in the affidavits. Where they have failed to provide the total we have calculated it from the details provided in the affidavit.

^{*}Note: Total assets given above is the total provided by the candidates in the affidavits. Where they have failed to provide the total we have calculated it from the details provided in the affidavit.





Women Representation in Presidential Elections

- As per the data from ECI, out of the total 4896 MPs/MLAs who are entitled to vote in the upcoming Presidential Elections, only 418 or 9% are women.
- Based on the number of votes the MPs/MLAs are entitled to vote, the total number of women votes is 9% or 113145 out of 1098882 votes.
- Among MPs, Lok Sabha has 11% or 41772 votes out of 384444 from 59 women MPs and Rajya Sabha has 10% or 16284 out of 164964 from 23 women MPs.
- Among State assemblies, Uttar Pradesh has the maximum amount of women votes with with 6656 votes out of 83824(32 out of 403 MLAs) followed by Bihar with 5882 votes out of 42039 (34 out of 243 MLAs) and Andhra Pradesh with 5328 votes out of 43512 (34 out of 294 MLAs).
- In terms of percentage, among state assemblies, the highest percentage of Women votes is from Bihar with 14% (34 out of 243 MLAs) followed by Rajasthan with 14% (28 out of 200 MLAs) women votes and West Bengal with 12% (34 out of 294 MLAs).

Calculation of Votes of Women MPs/MLAs state-wise:

S.No.	Elected from House/Assembly	Total voters in the House/ Assembly (A)	No. of votes each MP/MLA is entitled to cast (B)	Total no. of votes (C=A*B)	No. of Men MPs/MLAs (D)	Men Votes (E=D*B)	% of Men Votes (F=E/C*100)	Total Women MPs/MLAs (G)	Women Votes (H=G*B)	% of Women votes (I=H/C*100)
1	Lok Sabha	543	708	384444	484	342672	89%	59	41772	11%
2	Rajya Sabha	233	708	164964	210	148680	90%	23	16284	10%
3	Uttar Pradesh	403	208	83824	371	77168	92%	32	6656	8%
4	Maharashtra	288	175	50400	277	48475	96%	11	1925	4%
5	West Bengal	294	151	44394	260	32163	72%	34	5134	12%
6	Andhra Pradesh	294	148	43512	260	38184	88%	34	5328	12%
7	Bihar	243	173	42039	209	36157	86%	34	5882	14%
8	Tamil Nadu	234	176	41184	217	38192	93%	17	2992	7%
9	Madhya Pradesh	230	131	30130	205	26855	89%	25	3275	11%
10	Gujarat	182	147	26754	166	24402	91%	16	2352	9%
11	Karnataka	224	131	29344	221	28951	99%	3	393	1%
12	Rajasthan	200	129	25800	172	22188	86%	28	3612	14%
13	Odisha	147	149	21903	140	20860	95%	7	1043	5%





S.No.	Elected from House/Assembly	Total voters in the House/ Assembly (A)	No. of votes each MP/MLA is entitled to cast (B)	Total no. of votes (C=A*B)	No. of Men MPs/MLAs (D)	Men Votes (E=D*B)	% of Men Votes (F=E/C*100)	Total Women MPs/MLAs (G)	Women Votes (H=G*B)	% of Women votes (I=H/C*100)
14	Kerala	140	152	21280	133	20216	95%	7	1064	5%
15	Assam	126	116	14616	112	12992	89%	14	1624	11%
16	Jharkhand	81	176	14256	73	12848	90%	8	1408	10%
17	Punjab	117	116	13572	103	11948	88%	14	1624	12%
18	Chhattisgarh	90	129	11610	79	10191	88%	11	1419	12%
19	Haryana	90	112	10080	81	9072	90%	9	1008	10%
20	Jammu & Kashmir	87	72	6264	84	6048	97%	3	216	3%
21	Uttarakhand	70	64	4480	65	4160	93%	5	320	7%
22	NCT of Delhi	70	58	4060	67	3828	94%	3	232	6%
23	Himachal Pradesh	68	51	3468	63	3213	93%	5	255	7%
24	Tripura	60	26	1560	57	1482	95%	3	78	5%
25	Manipur	60	18	1080	57	1026	95%	3	54	5%
26	Meghalaya	60	17	1020	59	986	97%	1	34	3%
27	Goa	40	20	800	39	780	98%	1	20	3%
28	Nagaland	60	9	540	60	540	100%	0	0	0%
29	Puducherry	30	16	480	30	480	100%	0	0	0%
30	Arunachal Pradesh	60	8	480	58	464	97%	2	16	3%
31	Mizoram	40	8	320	40	320	100%	0	0	0%
32	Sikkim	32	7	224	28	196	88%	4	28	13%
	Total	4896	-	1098882	4478	985737	91%	418	113145	9%

Table: Calculation of votes of MPs/MLAs based on gender

DISCLAIMER: All information about candidates in this report has been taken from the affidavits filed by candidates with their nomination papers. Copies of affidavits were obtained from the Election Commission (Website http://eci.nic.in). While all efforts have been made to ensure that the information is in keeping with what is mentioned in the affidavits, in case of discrepancy between information in this report and that given in the affidavits, the information reported in the affidavits filed by candidates should be treated as correct. Association for Democratic Reforms, Uttar Pradesh Election Watch and their volunteers are not responsible or liable for any damage arising directly or indirectly from the publication of this report.